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The Pythagorean Theorem

Getting started...
Hypotenuse = the side opposite the 90° angle.
Label the hypotenuse in each triangle.

~. /.

Pythagorean Theorem: hypotenuse? = leg? + legs

The "legs" are the two shorter sides that "support" the hypotenuse.

Example 1
Write an equation for each triangle using the Pythagorean Theorem.

3
X
4 d wz
y

Pythagorean Theorem: The square of the hypotenuse is equal to the sum of the squares of
the legs (sides).

For a right angle triangle with legs a and b and hypotenuse c: a* + b? = ¢?
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Example 2
Solve for x.

2

< \10

b) 4

4.5
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Example 3
If Ben's pool is 6 m wide and 15 m long, what is the distance of the diagonal from one
corner to the other?

Example 4

A prefabricated roof truss is manufactured with the dimensions shown. The quality
assurance inspector checks to make sure that the supports do form a right angle. The
allowance for error is 0.02 m. Determine whether the truss is acceptable.

Metal Gusset

2.01

Truss Web "

Top Chord

Bottorn Chord

Typical Roof Truss 60 1 m
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What Is the Title of This Picture?

For each exercise below, find the missing length. (Refer to the

diagram at the right.) Find your answer in the answer column ¢
and notice the letter next to it. Each time the exercise number b

appears in the code, write this letter above it. Keep working

and you will decode the title of the picture. a

(1) a=8,b=6,c=
(2) a=4,b=9,c=

a=12,b=12, ¢c=
a=7,b=Vv20,c=
(5) a=V175,b=15,¢c=

,b=5,¢c=10 % S —

»f ™

®E

® -

(7) a=12,b= =13 % =\

a= . b=\56,c=14 -

(9) a=15,b= ,c=25 |

a=V85b=V59, c= CODED TITLE:

@ a= . b=6,¢c=V70

(12 a=40,b= , € =41 11145108 511 4 132 14 6

(3 a=1,b=1,c=

() a=_—  b=V2,c=V3 1413114123 2137 911 5

/&z) V00 = 20 ® VEi=s ® Vs N
(R) V67=8.19 @ Vioo=10 () va=1.41
(s) V3a=583 (O) V288=16.97 W) V69 =8.31
(T) Vo7 =985 L Visa=12 L) Va=2
(V) V1a0=11.83 H) Vi=1 (A) V75=8.66
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How Do You Write a Song

That Will Knock Over a Cow ?
% },-Lr i ﬁ fil'b

Solve each problem below. Cross out the box that contains your answer. When you finish,
print the letters from the remaining boxes in the spaces at the bottom of the page.

l(‘D For each right triangle, find the length of the side that is not given:

P AN

11m

(2

A rectangle is 7 cm wide and 10 cm

long. Find the length of a diagonal

of the rectangle.

1G3> Each side of an

~  equilateral triangle
measures 30 cm.
Find the length of

an altitude, a, of

13 m

<y
V3m

@ A 20-foot ladder is leaned against a

the triangle.

®

wall. If the base of the ladder is 8 feet
from the wall, how high up on the wall
will the ladder reach?

The bases of a softball diamond are
60 feet apart. How farisitfrom home
plate to second base?

Jack has let out 40 m
of kite string when

™

164 A television set may be described in he observes that his
~  terms of the diagonal measure of its kite is directly above S
screen.lf aTVscreen is 16inches Jill. If Jackis 25 m b
by 12 inches, what is the length of from Jill, how high
its diagonal? is the kite? DQ
25
BY IN SO TH BE AT ER
V7200 ft 123 m 105m | V675 cm | V6400 ft 975m | V149 cm
=849 ft { =11 A1m | =102m | =26.0cm| =80 ft =31.2m | =12.2cm
EF OR NG FL IT BE AT
' V850m | V3361t | V157 m | V425 cm im | V400in. | V380in.
| =29.2m | =18.3 ft =20.6 cm =19.5n.
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ALGEBRA WITH PIZZAZZ!
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OBJECTIVE 3-f: To solve word problems using the Pythagorean property.



